¥, 3=
[ BETSHhHE
. REI90F 9 A 10 H » FREFE 2SI EEIRNE RIE O R B AU R BB KBRS 24T
(1 1SI Symposium [ EFEHLG [ SO | 538 S EAEGE) o

2. REI909 A 13 ~ 14 H » FIRRFIEZINER e REE o0 KB 37 Al AR 22 5] 25 fF <5 B
Lz T2001 6 25 8F & BRI & — @ 3F BT« ATl 3392 -

3. RIBEI90F9H 19 HAL » FHmsshmiR Bit MR B el = 1 — B2 = BhRiE B A
H5 00 B2 FERHA, TESEREARYE | SHAGRAE

4. REI90F9H 19 H K21 H » EEFRIRFRERSE ~ #5HERD ~ aRfGEST - ShiE ~ #HEH (2
Mo H 19 HIER) ~ FHmaEaiR ~ IRImEES - BREFE - BREEE - RER (B
9 H21 HIGR) o BiAERCHEIEERES T8 A\ B AIRRAS I B e B P S ) SR o

5. RIFEI90F9 H26 H » MEZREH | MH FAE AT AL 5 85 22 B 3, ZEam#E 2 MR S
RO TIE SR B B LT PCLIS DhRER R &y -

6. RKEI904E9 A27 H ~ 10 H4 H » B/ MHRTEZAGTHZ00 TOffice2000 51—
PowerPoint(—) ~ ()] SEZFHFE -

7. REI90F 10 A3 HE4H » sREATEFRAF MRS S ~ IR A3 RS = AR
BERERTEREZR T 2B i E &N E IR R (CONCERT)2001 FF4FEE ) ©

8. RE90F10HH » sREEFESREIMRIRTE ~ B5HEBRT AL R AR A2 T e 26
BIF 0T — OCLC & ARES ) et -

9. REo0FE 1011 H~10H18H~ 10 A25H ~ 11 A1 H » SEE IMARTHZKEHE
HLO2 N TOffice2000 #41— Excel ZA1(—) ~ (2) ~ (=) ~ ()1 HEEHRIE -

10. RE 904 10 A 11 H » sRFATE SRR S S 24012 A 0EE M ai@ =2 i
[ INNOPAC A1 FH & Wi R VS — DU &3k > 1% Tulips #ThREDAE ©

11. RE 904 10 A 16 H - 8 MR R R IE 68 2 i B RN A A S i T8
(A blE E B F TR €0 -

12. R0 11 A 1 H » SR AR SREUARE B S i i 22 K le 258 3z T R ] 35 B Bl
B Y BT R T o

13. RE90F 11 A 13 H » B HEI/ MHEATEHE AR R IEE 2T B A Z g ikl = £t 2
M {32270 ] B B T 2270 SR | SR -

AEEFL 909 H 27 H BRI A A FERR & > & AL R L B R R R o3 o 2200
T e o8] ] 5 B £7 iy 90 - FE I 5 81 A\ BB ALY B 12001 (B 75 68 PR &+ & — [ 35 B s F
i+ BT SO -

§ EEEFIBIEBHET

AEE S B 90 5 8 H ZE 904F 9 A {7y » ThERHR | 455 [ S22 Ky 15 45 B B o) [ B RR 2
2o REHE 1 AR 363 A0 e



